1 0N ERRIR GOTO 2000

S DIM en(15):DIN ev(1S:130:0IN eti15:19)

10 a=lrch=0tPRINT CHRS(Z3) RS (D)

20 CLS:BORDER (MTMK ChOTNE 1210 INK 2, 21THK 341

30 PRINT “EMV or ENT (Inpu! ";CHRS(34);"V*;CHRS(34):" o
r *;CHRS(34); "T"sCHRS134) ;™M) "

40 IF INEYISS) AND 32000 AND INEYISL) AND 320X0 THEN

LOT0 40

0 iby=INEY ()

) FOR j=1 TO 1S:IF evij. 10000 THEN MEXT

70 il=]

B0 FOR j=1 T0 15:IF ed(j. 1030 THEN HEXT

0 j2=§

100 CLS

110 LOCATE 1.1

120 IF iky»=0 THEN FRINT"Voluse Envelopd Nat";j1t60TO0 1
0

130 PRINT"Tone Ervelooe Mot™:i2

190 PRINT “Use “:CHRS!34); "ENTER":CHRS (34):" TO encode

a section”

150 PRINT "Nusber-pad ®;CHRE (34} "ENTER"; CHR# (34) 5 ® end
s current envelope”

140 B25UR 1000

I70 ERASE entDIM sn(15)

150 PLOT 0.240.1

190 zl=0tyi=D

200 stflo=tthflag=0tvilag=)

200 y=0ty=0th=02y=0

220 LOCATE 1, 19:PRINT"Use cursor keys to draw envelope

steps"

230 DRAHR 4%, 44y

Z40 LOCATE 33, S:PRINT(YPOS-240) /4

290 S=INEYRRIF o5="" THEN 290

260 TF IWEY(5)=0 THEN ch=ch XOR 1:PRINT CH$123);:CHRS(
chisLOCATE 1,18:1F ch=i THEN PRINT"ERASING" ELSE FRINT®



265 FRINT CHRS (23) 10t Ich)

0 IF TREY{18)=0 THEN 350

280 IF INFEY(&1=0 THEN 420

B0 =0y=0

00 r=(IHEY (1)=01s (XPOSCAES) = INEY (8} =01 (POSH0)

310 y={INCEY (01 =00 (YPOSCTE) -~ (INEY (21 =01 » (YPUSH128)
30 pl=zlegtyleyley

330 IF 20 THEN hilag=1:IF vilag=l THEN vflag=0h=h+z-
stilghistilg=0

340 IF yOX0 THEN vilag=1:1F hflag=1 THEN hflag=0tveviy-
stilghyistilg=0

50 6070 230

360 1F RBS(h}CHABS|v) THEN LOCATE 1. 20¢PRINT"Unmatched
nuaber of steps®iG0T0 230

37D =y SN [v) th=hesalih)

320 TF h= THEN h=}

390 LOCATE 1.20:PRINT SPACESIZ9)

H00 PRINT®Step count:“:PRINT"Step =ize 1"IFRINT®Pause |
imet"

#10 en{ad=htLOCATE 1l+a,21iPRINT b

420 IF v=0 THEN enlatl)=01GOTO 440

430 anla+l)=SEN (v1sROUND (v L/v)

440 LOCATE 11#a,Z2:FRINT enfavl)

850 enla*Z)=ROND(11/h)

450 LOCATE 11+a,Z3:PRINT enfatl

470 a=a+3:1F a(1S THEN 190 ELSE 480

430 REM ENCODE EMWV

A% IF iky(0 THEM 60TD 550

500 FOR f=1 TO 1Stew(jls jl=enli) tNEXT

S10 B jleevlilstsev il 2 sl ila3h vl ]l 80 v (}145)
sevl LB smv LT sevljE o) eow (1. 90 - 09 1,100 . 2w (j1, 11
Yoovdila 120 vmvl jLo 13 s nvl s LB s vl 1, 1T

520 IF i2»1 THEM |Z2=j2-1

530 BOTO 590

SR80 STOP

550 REM ENCODE ENT

Sh0 FOR =1 TO 15%ed ()2, ji=en(})ihEXT

570 ENT =iZset (i 1ot 132:2) e (j2:3) st (§2,4) 104 2,5
Yord (72480 st 2. T ot Ui 2580 emd (520 3D ot 20 100 v 62 (120 ]
Paet 0212008 0i2: 13 snti2: 14) -0t (j2: 1)

580 IF 1)1 THEM ji=ji=1

590 SOUND 129,478.0:0. 11 52

B00 LOCATE 1,25

£10 PRINT CHRS(34) 1 "ENTER"(HRE(30)s" =elects a new eny
elope®; CHRS (2214CHRE (0}

520 IF IGEYS="" THEN GOTOD 420

430 IF INEY(18){ -1 THEN B0T0 10:ELST 550

1000 FEM cheguers

1010 el=0:c2=0

1020 LOCATE 1.4

WHFR =TT

1040 FOR =1 TO 10

1050 PAPER 2:PRINT" ™;:PAPER Z:PRINT® ";: PAPER ZtPRINT
" " IPRPER ZPRINT™ "

1060 NEXT

1070 FOR j=1 TO 10

1080 PAPER J:PRINT" ";:PAPER 2:PRINT® ":! PAPER 3:PRINT
" ":'FAPER ZiPRINT™ 3

1050 MEXTINEXT |

1100 FLOT 0,280:DR0M 539,230

1110 PAPER 0

1120 FETURN

2000. IF ERR=10 THEN BOTD 10

S000 FOR i=0 TO 15

5010 FRINT entjls

5020 PRINT evlilsils

030 PRINT etlj2y])

SO80 NEXT



